CP Physics - Lafargue
Name: _____________________________________________________ Date: _____________________ Period: ______
Chapter 7 Test (50 pts)	

Multiple Choice (2 pts): Please select the best answer. Write the letter in the space provided.

____ 1. Atomic nuclei of almost all atoms consist of
a. protons and neutrons.			c.   only protons.
b. protons and electrons.			d.   neutrons and electrons.

____ 2. The net charge of a neutral atom
a. depends only on the number of protons it has.
b. depends only on the number of electrons it has.
c. is zero.
d. usually cannot be determined.

____ 3. The reason a charged balloon will stick to a wall is that 
a. it has a (-) charge that attracts the (-) wall.
b. it has a (+) charge that attracts the (+) wall.
c. a neutral balloon attracts a charged wall.
d. it has a charge from rubbing that polarizes the neutral wall.

____ 4. If two balloons are each rubbed with wool, we find that the balloons 
a. attract each other.
b. do not affect each other.
c. repel each other.

____ 5. Which of the following statements is correct?
a. A proton has a greater charge than an electron.
b. A proton has less of a charge than an electron.
c. An electron has a charge equal but opposite to that of a proton.
d. An electron has a charge equal to that of a proton.

____ 6. [image: ]Your physics teacher has prepared the room for the class's entry by suspending several inflated balloons from the ceiling. Upon entering the physics room, you observe two balloons being drawn towards each other as shown at the right. The attraction of these balloons for one another provides evidence that
a. both balloons are charged with the same type of charge.
b. both balloons are charged with the opposite type of charge.
c. both balloons are charged – either with the same type or opposite type of charge.
d. only one of the balloons is charged; the other is neutral.
e. at least one of the balloons is charged; the other is either charged or neutral.


____ 7. When a rubber rod is rubbed with fur, the fur becomes positively charged. This happens because
a. the fur lost electrons to the rubber rod.
b. the fur gained protons from the rubber rod.
c. the fur became polarized.
d. the fur gained neutrons from the rubber rod.

____ 8. Suppose a hollow metal sphere has a large negative charge on it.  The electric field strength inside the sphere is
a. weak and positive.
b. large and negative.
c. weak and negative.
d. zero.

____ 9. Electric field lines
a. show the direction of the forces acting on a positive test charge.
b. show the path a positive test charge will take if placed in that field.
c. get farther apart as you move away from the source charge.
d. all of the above.
e. A and B only.

____ 10. Particle A has twice as much charge as particle B. Compared to the force on particle A, the force on particle B is
a. half as much.	
b. two times as much.	
c. four times as much.	
d. the same.	
e. none of the above

Short Answer: Answer the following questions in complete sentences.
1. (6 pts) Compare and contrast the electrostatic force and the gravitational force. Give at least two similarities and two differences.














2. (4 pts)  Rank the following charges from greatest to least magnitude.  
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3. (8 pts) Draw the electric field lines for the following charge arrangements:



a. 							b. 












c. 							d. 










Open Ended: Show all calculations, givens, and formulas, and box or circle your answer with units.

4. (7 pts) Two hot air balloons each acquire a charge of +4.0 x 10-5 C on their surfaces as they travel through the air.  What is the force between the two balloons if they are 2.0 m apart?












Is this force attractive or repulsive?  How do you know?





5. (5 pts) An electric field exerts a force of 3.6 x 10-4 N on a test charge of 5.5 x 10-6 C.  What is the strength of the electric field at the location of the test charge?
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